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Beef EPD
Summary: 
The ability to understand and use expected progeny difference (EPD) when judging and selecting cattle can greatly impact the success of a breeding program. In this presentation, students will learn how to read data provided on an EPD and will determine which cattle should be selected based on specific cattle operation scenarios.

Keywords: expected progeny difference (EPD), birth weight, weaning weight, yearling weight, milking ability 
Subject TEKS: 


Livestock Production


3A)  gather performance data


6B)  explain the use of genetics in animal agriculture

Grade Level: 9th -12th 
Learning Objectives: 

The learner will: 

· Understand the importance of EPD in the cattle industry
· Define EPD and describe how it is used in judging and selection of cattle 
· Be able to analyze a beef cattle operation scenario and select the cattle that would best yield the desired outcome for that operation
Time Required: 1-2 class periods 

Materials: 
· PowerPoint over beef EPD
· Worksheets with different EPD data and scenarios

Background and Concepts for Teachers: 

· EPD
· Birth weight

· Weaning weight

· Yearling weight

· Milking ability
Lesson Introduction / Motivation: 
In order to have a profitable cattle operation, managers must be able to interpret certain data on cattle before buying them. Have the students brainstorm what type of information they should know about cattle before buying the animal.
Presentation/Explanation: 
PowerPoint- This presentation enables students to learn terminology associated with expected progeny difference and select cattle which best meet the needs of various cattle operation scenarios.
Activity/Application:

Beef EPD worksheet- This activity allows the students to apply the knowledge from the PowerPoint presentation to real data by selecting cattle with desired traits for various cattle operations. The students will be asked to read the scenarios given and select 4 animals to keep and 4 animals to cull based on desired outcomes of the operation. Each data table has a different scenario that will require the students to analyze different EPD data.
Lesson Closure: 
The teacher will lead a discussion based on new student knowledge of EPD. Below are some questions that can engage the students in discussion of the topics. The discussion can also be student lead by the questions they create.

1. What is the purpose of an EPD?
2. Why is it important to not only look at EPD data, but to also look at the live animal?
3. What is important to know about birth weight, weaning weight and yearling weight?
4. What is the purpose of a scenario?
Assessment/Evaluation: 
Here is an example data sheet, please read carefully and select the most appropriate bull based on the questions below.
	Bull
	Birth Weight
	Weaning Weight
	Yearling Weight
	Milking Ability

	A
	+1.2
	+9.8
	+13.7
	+8.4

	B
	+7.0
	+12.0
	+21.4
	-2.3

	C
	-1.5
	+6.8
	+24.1
	+12.1

	D
	+0.4
	+17.1
	+34.3
	+11.8

	Breed Average
	+1.4
	+8.8
	+18.2
	+4.7


QUESTIONS
1. Which bull would you suspect to have the poorest milking daughters?

2. Which bull has the most desirable data, if forage and feed are abundant?

3. Which bull concerns you the most in regard to birth weight?

4. Between bulls C and D, which bull would you most likely use on first calf heifers that are on a ranch with low quality forage and limited labor?

5. If these bulls were going to be placed on cows to produce offspring that will be retained through the feedlot until harvest, which bull would you be least likely to place first?

ANSWERS
1. Bull B because he has the lowest milking ability EPD.

2. Bull D because the data indicate that his offspring will be the fastest growing at all stages and pass on the best milking genetics as evidenced by the highest milk EPD.

3. Bull B should scare you! A birth weight EPD of +7.0 is extremely high. When bulls have this high of a birth weight EPD, they are typically going to produce major calving problems, especially on first calf heifers. If a cow cannot have a calf, then it becomes an economic disaster. High birth weight bulls are major problems, no matter how much labor you have.

4. Bull C should be your answer. It has the lowest birth weight EPD and has a more moderate milk and EPD.

5. Bull A because he has the lowest yearling weight EPD.
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Please email us your comments on this lesson: 
E-mail to ljohnson@cvm.tamu.edu
Please include the title of the lesson, whether you are a teacher or college faculty and what grade you used it for. 
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